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-

-

-

- 1800

-

-

-

-

-

-

16
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16 1

16 1 POQ PRQ

16 2 PQR = x0

1800

3600

16 2

x 3600

400

PQR = rr
9

2

360

40
.2

o

o

16 3

16 3 PRQ PQ A

PAQ

16 2

O PAQ B

POQ

16 1
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PBQ

POQ = 2 PBQ

16 4

O PAQ

PBQ

 2 PBQ = POQ                       16 5

POQ = 1800

2 PBQ = 1800

      PBQ = 900

O PQ PAQ PRQ

PSQ

PRQ = PSQ

OP OQ

Fig. 16.6

O

B

P Q

O
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5 AB AB

C D ACB = ADB

A, C, B D

D A, B, C D

16 1 16 7 O

AOC = 1200. ABC

x APC

ABC
x = 2 ABC

x = 360o – 1200 = 240o

2 ABC = 240o

ABC = 120o                                        16 7

16 2 16 8 O PAQ = 350. OPQ

POQ =2 PAQ = 70o    ...(i)

Since OP = OQ (Radii of the same circle)
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OPQ =  OQP ...(ii)

( )

OPQ + OQP + POQ  = 180o

2 OPQ = 180o–70o= 110o

OPQ = 55o                                                                                            16 8

16 3 16 9 O AD, BAC BCD

BC

BC
BAC =90o

( )

AD, BAC 16 9

BAD = 45o

 BCD = BAD

( )

BCD = 45o

16 4 16 10 O POQ = 700 PS OQ. MQS

2 PSQ = POQ = 70o

PSQ = 35o

MSQ + SMQ + MQS = 180o

( )

35o + 90o + MQS = 180o

MQS = 180o – 125o = 55o                                16 10

B

O

D

CA
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16 1

1 16 11 ADB O ACB = 350

AOB

16 11

2 16 12 AOB O APB = AQB = 900?

16 22

3 16 13 PQR O PTR = 350 PSR

16 13
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4 16 14 O AOB = 600 ADB

16 14

16 3

P 16 15

P Q

16 16

16 16

P, Q R

16 17

16 17
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P, Q, R S

16 18 16 18

16 18

P, Q R

1

2

3

4

16 6 1

16 19 PQRS

1800

ABCD
To prove : BAD + BCD = ABC + ADC = 1800.

Construction : AC  DB 
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Proof : ACB = ADB

 BAC = BDS

[ ]

ACB  + BAC = ADB + BDC = ADC

 ABC 

ACB + BAC + ABC = ADC + ABC

 ACB + BAC + ABC = 180o [ ]

ADC  + ABC = 180o

BAD  + BCD = ADC + ABC = 1800.

 PQRS 

 PQRS ,

P + R = 180o

 S + Q = 180o

P, Q R S

PQRS

16 5 ABCD

A + C = 180o

( )

A = C 

Fig. 16.19
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1 C

A + A = 180o

2 A = 180o

A = 90o

ABCD

16 6

16 23

Solution : ABCD AB = CD.

 AB =  CD ( )

 AD 

 AB +  AD =  CD +  AD

 BAD =  CDA

 BD =  CA

         BD = CA

16 7 16 24 PQRS A

SQR = 800 QPR = 300 SRQ

SQR = 80o

Since SQR = SPR

[ ]

SPR = 80o

SPQ = SPR  + RPQ

= 80o + 30o.

SPQ = 110o.
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SPQ + SRQ = 180o. (Sum of the opposite angles of a cyclic
quadrilateral is 180o)

SRQ = 180o – SPQ

= 180o – 110o = 70o

16 8 PQRS

 Q = R = 65o, find P  S .

 :    P + R = 180o

P = 180o – R = 180o – 65o

P = 115o

, Q + S = 180o

S = 180o – Q =180o – 65o

S  = 115o.

16 2

1 16 26 AB CD O AOB

= 550, COD

16 26

2 16 27 PQRS PS A

PQR = 800 ASR



3

153

16 27

3 16 28 ABCD O

ACB = 500 ABC = 110 BDC

16 28

4 16 29 ABCD A = BCE

16 29
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-

-

-

-

-

- 1800

-

1 PQRS, O O

2 16 30 C
1

C
2

O
1

O
2

A

B O
1
, O

2
 AB M

(i) O
1
AO

2
O

1
BO

2          
(ii) M AB (iii) AB O

1
O

2

16 30
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1 1 = 2 AO
1
M BO

1
M

3 A B AC AD C, B D

16 31

CB, BD AB ABC = 900 ABD = 900

4 16 32 AB, O ACB = 400 OAB

16 32

5 16 33 O PQR = 1150. POR

16 33
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6 16 34 O AOB = 800 PQB = 700. PBQ

16 34

16 1

1 700 2 3 350 4 300

16 2

1 550 2 800 3 200 4

1 900 2 500 3 1300 4 700


